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QUESTION 1

Consider the following XML document

<2?xml version="1.0" encoding="UTF-E8"?2>

<weather>
<temperature UoM="F" city="New York">80</tamperature>
<temperature UoM="F" city="Chicago">53</temperature>
<temperature UoM="C" city="Warsaw">30</temperaturs>
<temperature UoM="C" city="Berlin">24</temperature>

</weather>

A. lltemperature[Berlin]/text()

B. /ltemperature[city="Berlin"]/text ()
C. IM[@city=\\'Berlin\\' 3/text ()

D. /I* f@city="Berlin"[/CDATA

Correct Answer: D

QUESTION 2

Given a frame with an ID of "framelD". which of the following is/are the best line(s) of code for changing the context of
the test script to theframe?

& A
element = driver.find element by id('frameID")
element. frame
{ :I E_
get("framelD') .frame
]
fr = driver.fird element by id|'frameTD')
driver.switch to.frame{fr)
|: ] D_
awitch to.frame('frameID’)
A. Option A
B. Option B
C. Option C
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D. Option D

Correct Answer: A

QUESTION 3

Which would be the best set of methods called by a Page Object that corresponds to the following dialog box?

Login [ ji
3
Password (
[ Log in ] [ Cancel

If you forgot your password, click here.

A. log_in, cancel_log_in, remind_password

B. log_in, cancel_log_in. clear_user, clear_password
C. enter_login. enter_password, log_in, cancel

D. push_button(button), enter__text(text). clickjink(link)

Correct Answer: B

QUESTION 4

Consider the following HTML document

<html>
<head/>
<body>
<form class="odd Eirac">
User: <input type="adit" class="user" name="usar" />
<br/>

Password: <input type=Tedit" class="password" nams="password" />

<br/>

<button type="submit" name="login" class="big button">Log

in</button> &nbsp;
<button type="sublmit" name="cancel" class="big
button”>Cancel</buttaon>
</form>
</body>
</html>
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Which of the following CSS selectors will find the Cancel button?
A. .big.button[name="cancel"]

B. ."big button" [name="cancel\\'\\']

C. . .big_button[name="cancel"]

D. .big.button[@name="cancel"]

Correct Answer: C

QUESTION 5
Which of the following is a good definition for DOM?
A. An APl interface which treats an HTML document as a tree structure where each node represents an object

B. A mock object, emulator or simulator which allows the automation to consistently test some capability, even when the
physical object is not available

C. A test automation pattern which forces the technical and business layers to be considered separately
D. A layer which provides an environment for automated test scripts to execute

Correct Answer: C

QUESTION 6

Which of the following Selenium tools is primarily used for capture/playback?
A. SeleniumIDE

B. Selenium WebDriver

C. Selenium Grid

D. Selenium Standalone Server

Correct Answer: D

QUESTION 7

In the web application you are testing, a button on a page can be enabled or disabled Given the following code
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from selenium.webdriver.support import expected conditions as EC
from selenium.webdriver.common.by import By
from selenium.common.axceptions import TimecutException
def click by xpath{driver, path):
e,
element = wait (driver,5) .until)
EC. [convenience method] ( (By.XPATH, path)))
element.click ()
except TimeoutException:
element = None

return element

Which of the following wait convenience methods is the MOST appropriate to replace [convenience method] above to
click on an enabled button?

A. visibility_of element_located
B. element_to_be_clickabl®

C. invisibility_of element located
D. presence_of_element_located

Correct Answer: D

QUESTION 8

Which of the following is a limitation of a test automation project that is likely to cause an organization to get less return
on their investment than they expected?

A. Approach stating that all manual tests should be automated

B. The pesticide paradox is decreased with automation

C. Short-term thinking and inadequate planning for the automation
D. Executing tests outside of normal business hours

Correct Answer: D

QUESTION 9

What is XPath?

A. An error in XML document, where beginnings and endings of two tags cross (eg, ), cross-path

B. A test design method in which a test case traverses all crossing paths of an algorithm or activity diagram of use case

C. A query language for selecting nodes from an XML document
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D. An element of Test Execution Layer that allows one to cross-reference different SUTs

Correct Answer: C

QUESTION 10

Given the following piece of code:

driver = webdriver.Chrome ()
driver.g=t({"httpa ://python.org")
Ariver.gan{"htrtpna S /nerl oorg?)
driver.forward{)

driver.back{)

Which page will be displayed in the web browser after its execution?
A. httpsV/perl.org

B. httpsZZpython.org

C. Browser\\'s home page

D. The page cannot be determined

Correct Answer: C
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